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1. 3T & ZaRT a9 3desT & YFdd U 70 - 3T F IUR W 9 F AT adaw &
fore amwfya e arr &) 3 anaer 99 F TRl Hoen it oeg wfaffe & g @ A &
Wmﬁawmwﬁ%ﬁMmﬁmmwawﬁl

You have been called for the written test based on the online data furnished by you in the web application, If
vou have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. waﬁsoqaa?ﬁmm;rqﬁ?mémﬁ%aﬂtmﬁm0221%%|

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is
02 hours.

3. OR Rwcul Ik argese TER & W gt o @ R v 3w §7 & #ev e |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, s e & AT 04 31 gl 3R 9cdF TTed 3cadl HIAT T 3iF Prer ST |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. Al & 3ok &7 & fow gudl iy ARa 3reeT ATANR SeaR-gRede & S|
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
6. mﬁmﬁwﬁﬁm%ﬁ#wsﬁﬁw@w@%ﬁamﬁzﬂﬂﬁ

mmmmﬁmmﬁaﬁmmaﬁrmﬂmm%l

You have to se!ect the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. TF U2 & U HAd Ical Ireld HAT ST
Multiple answers for a question will be regarded as wrong answer.
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maﬁaﬁﬁﬁgﬁﬁqﬁgﬁaﬁmmmﬂmwmwﬁ‘%QFm
X _for@ar =iz

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

SeA-qRecehT & 3T & AH qUT HeThAF el fd|

Enter your Name and Roll Number correctly in the question booklet.

Wmm—gﬁ?mﬁaﬁuﬁﬁmf:ﬁaﬁmmﬁwr@%ahwéz%ﬁ@raﬁr

ST ATl
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qﬂwﬁﬂﬁﬁﬂmﬁmﬁaﬁﬁﬁmﬁﬁmﬁmwmmmmﬁm

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

R e ToRa B HeY U, FIGHOC, ANE B qU1 T FAFglEE
ST, UTe- T, Ale AT A Y Al A & S

Computers, calculators, mobile phones and other electronic gadaets, text books, notes etc., will not
be allowed inside the written test hall.

qﬂmqﬁﬁﬁw.ﬁwmw-gﬁawﬁmﬁmﬁmﬁmmqy
IR Sear-gfeas P @1 #Y qur qudl ofd 3 aE )

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

ma-g%ﬁ-raqmzﬁmﬁqmr@mﬁl

The question booklet can be retained by the candidates.

TR F SH G F SR A B afieT g oisA A AT 7

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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RO % G CPRIATSE] o <l % STeTTo hi Fed &l

Depression between the two tuberosities of humerus is known as

(a) figem/Capitulum (b)  stfyetRemke/Epicondyles

(c) srsfaftes @i=/Bicipital groove (d) gifsavTrochlea

ST T bl +ft g1 ST 21/ Transverse plane is also called as

(a) wwtaTH/sagittal (b) & coronal

(¢) wEff/axial (d) == EmbE/median sagittal
DEXA T ST 2 forw fomam st 8I/DEXA is used for

(a) #HAWA/CT scan

(b) umeETE/MRI

(¢) ftarwfis scaua/Bone mineral densitometry
(d) =rfEares Sefregaze/Cardiac catheterisation

VP H, fvaty a7d: 8 & 1e &1 Uge fher 2

In IVP, the first film after contrast injection 1s

(a) TwEm/nephrogram (b)  urEemmE/pyelogram

(c) Fum/ureterogram (d)  Amwm/venogram

TorTS, 2T T S 2/Dental formula for permanent teeth is

(a) 2122/2122 (b) 2023/2023 (©) 2103/2123 (d) 2123/2123
JOPA e BYTOPA, 18

(a) sgTeiie YUweH/intraoral paraapex (b)  3greTie dfEnfise/intraoral periapical

(c) <R YU TaE/interoral para align (d)  3=teiRa YfErfiesRa/interoral periapical

Svafg dffar-gu aramorET N FHIeeh & T 9L fafora gt 21

The common carotid artery usually bifurcates at the level of —cervical vertebrae.
@ 4" ® s © 3¢ @ 2"

HhS T Heih Hdh 21/The functional tissue of lung is

(a) UfcaEEd/alveoli (b)  sihi/bronchi

(c) =& siifReAId/respiratory bronchiole (d)  3uia sifeetier/terminal bronchiole

3 1338 & 1374



10.

11.

12,

13.

14.

15.

) DI 5 Tl h G R 1 S /I <
Elevation of the scapula is caused by all except

(a) wwileE/trapezius (b) fae &gefi/levator scapulae
(c) wfefemw Sl/latissimus dorsi (d) =g Asw/rhomboids major

g F9rsa 1 gea/ The number of cervical vertebrae
(@ 5 ®) 12 © 7 @ 8

TR %07 & Wer/Protons are ———charged particles.
(a) wAEeH/positive  (b) FoTeAs/negative  (c)  SeEM/neutral (d) u=+tTEl/none

qUeATR Tl @) AE F & AU =ity
Ultrasound waves require to travel.
(a) wrem (e, da 3fe)/medium (jelly, oil etc.)

(b) =F/air

(c) Fafd/vacuum.

(d) E/gas

FETE 3 I & e B 8l
Isotopes are those elements that have
(@) ST I T, fer fafer S ae

same atomic number but different mass number
(b) b o Ee, AR T g e

different atomic number but same mass number
(c) T HEAT & W q°T g

equal number of protons and electrons
(d) SEEAATH T

none of the above

T IO O O O S § A o 21d &l
When X ray beam falls on the body, they are
(a) wEfda/reflected (b)  sEwif¥d/absorbed
(c) waf@/transmitted (d s=wwd/all of the above
T Y T e | 3 w1 foate ST T St 2
In modern X ray tube, a vacuum is maintained equal to
(a) 10 mm of Hg (b) 10mm of Hg
(¢) 10mm of Hg (d) wmstwEi/none
4 1338 & 1374
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13,

18.

18.

20.

21,

SAf¥eham TEE g § ST 19 T &5 Bl 2

Heat is dissipated in most of the X-ray tubes by

(a) =med, gae aur fafEr/conduction, convection and radiation
(b) =@ Ut Hagd/conduction and convection

(¢) =mer @ fafeRer/conduction and radiation

(d) waed aun fafmet/convection and radiation

T T U i ¥ Hafod 2

Penetration of the tube is directly related to

(@) Efdt/ KVP (b) wWYmA

(c) <EmA@aa/Exposure time (d)  wiwa e gli/Focus film distance

ferfereor sififen g s fop T fafereom o tfireia B s Ai+e?

The unit used to record the radiation received by radiation worker?

(a) w=H/Roentgen (b) Ts/Rad

(c) =/Curie (d) foeet fad/Milli Sievert
Fafreta et # waes o sAaTet wreafen a6t @ S h 1 s 21
The normal frequency of ultrasound waves used in medical diagnostics range from
(a) 20000 - 50000 Hz (b)  50000-<1 MHz

(¢) 1MHz-20 MHz (d) >20MHz

it U1} T e T T Rffa g

Anode in rotating anode X-ray tube is made of

(a) FmeA—fiera frarg/ Tungsten — Nickel alloy

(b) e —ifam fisrag/Tungsten — Rhenium alloy

(c) Fher — o firsreng/Nickel — Tin alloy

(d) <" —uqfuta frarerg/Tungsten — Aluminium alloy

2 FHIT AT § Hefted Heeaqdl 2
Compression in Mammography is important due to
(a) 3= e fted/Improved spatial resolution
(b) 3=a fawaia fadga/Improved contrast resolution
(c) = ir guw/Reduced patient dose

(d) Swiwai/All of the above
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22.

23.

24.

25.

26.

27.

28.

29.

At o6t | T geifird 2/Moseley’s law relates to
(2) aimesd qur whoiT w1/ Wavelength and angle of scattering
(b) wed qur e X A ot/ Wavelength and intensity of X-ray
(c) =mafy aur g Eear/Frequency and atomic number

(d) sty @ sEg dieedr/Frequency and applied voltage

Feiifteen fhem i wramer 912 2

The usual thickness of the radiographic film is )

(a) 0.05mm (b) 0.25mm (¢) 0.75:mm (d 1mm
Hrararads 7@ % =i Fi9-a7 @ 78 22/Which is not true about intensifying screen?

(a) {nft e =i =erdr 8/Reduces patient dose

(b) ek farste & et o/Decreases spatial resolution

(c) ereaEa &a #dl ¢/Reduces blurring

(d) w=E Y zgs & st s siera &/ Increases loading of X-ray tube

SIS oheT T TS AT 21/Ideal temperature of the dark room is

(a) 10-15°C (b) 23-27°C (¢) 16-22°C (d) 28-32°C
7 disrdareich TLaT ST ITART el (AT STl

Intensifying screens are not used in

(a) AwEmh/Mammography (b)  wreaf=/Ultrasound

(c) @Fi/Both (d) uw=raE/None

et e o fiet e fvew 3 forg e foheet o

Filter in the dark room used for the blue sensitive film is?

(a) ¥s/Amber (b) =w/Gray (c) &/Green (d) w%e/White

AT & & SEeh o ST o Tl FHH?

The most commonly used photo sensitive agent?

(a) fueew arge/Silver Chloride (b) ot simge/Silver Bromide
(c) fuw smarese/Silver Iodide (d) % # & 0 Wt 7/None of the above
et 3 sy TR foerad #/Fixing solutions used in radiography are
(a) &mt/Alkaline (b) I=fR/Acidic
(c) eEH/Neutral (d) 3% H 4 ww 7/ None of the above
6 1338 & 1374



30.

31

32.

33.

34.

35.

wrTford SaTR forepraes o QA Bt 2l
In automatic processor, developer temperature is
(@) 35-40°C (b) 50-55°C (¢) 18-20°C (d 25-30°C

THTHITS HT HT et 3Tl e 2ET ST 2

The fracture of Scaphoid is best seen in

(a) dwgw/PA view

(b) wifffer gw/Lateral view

(c) eia:werifys e afed fig gea/PA view with ulnar deviation
(d) Ta e wfed die gwa/PA view with radial deviation

meﬁﬁzﬁ@'ﬂf 7 e o < we 2|
The bicipital groove of Humerus can be demonstrated in
(a) 9% e gw@/Axial view of shoulder

(b) wafia wamw/Tangential projection
(c) FU*dfugw/PA view of shoulder
(d) widegwa/Lateral view

TAREE T YT ¥ T 3 fore feran stmaT )

The Lauenstein’s projection view is basically done for

(a) sifor/Pelvis

(b) Frem-sivfra(@shsicras) w@f4/Sacro Iliac joint

(c) #forwfty qom it 1 3o #$/Hip joint and upper third of Femur
(d) ot &s/Chest region

fopelt STarCaelt feroater e B SR SR U HATE Behet T - ot o farfsrrorrensh wlte <hr

Fed ol

The specialised radiological examination of lungs and bronchial tree using an opaque
contrast medium is called

(a) sirepdt/Bronchoscopy (b)  siwmTdy/Bronchography
(c) Tr=mmdl/Cystography (d)  =uT/Urography
i o iy v o e 3 ST A o S o6 for T <R iRt T STl &

To decrease the magnification of the heart in PA view of chest the film focal distance is
kept at

(@) 40%finches  (b) 60%finches () 72%afinches  (d) 36¥/inches

7 1338 & 1374



36.

37.

38;

.2

40.

41.

42.

fyrate meT ¥ SR Se-IRRI Ut ST anfefEl ot frfsomeres wheor st e & iy foram
ST 31

The radiological examination of salivary glands and its ducts by means of contrast
medium is termed as

(a) wFITR/Ductography (b)  femamTdi/Sialography
(c) FRFmT/Sinography (d) feegaum/Fistulogram
T T 7 e & ferg fopam s 21

Stenver projection view is basically done for

(a) wivd = sw/Base of skull

(b) TRy awvamy fewd /Petrous portion of temporal bone
(c) fasmfer = il g7a/Oblique view of mandible

(d) wREEYOrbit

T U 2/Patella is a
(a) w9 Rw/Flat bone (b)  dmif=r/Long bone
(c) eifvafia srftw/Trregular bone (d)  adferrfta/Sesamoid bone

TrETTRST T -8 g Sfbuet ATEe e watan aleh & Fuiar 87

Which view of the nasal bone shows bony nasal septum best?
(a) wif¥ds ygw/Lateral projection

(b) udtugu/AP projection

(c) amex s &/ Water’s projection

(d) 3w H A & o 7€/None of the above

ferferst v =t ST ¥ foru fopar smar 21/Skyline view is used for
(a) uRwRwTalus (b) Wr@/Scapula (c) wes/Patella (d) eforgfa/Hip joint

et i -t Rl i gaed 1 wata veuiy w82

What position of the elbow best demonstrates the Olecranon process?

(a) wigw/AP view (b)  areafes qiide g/ True lateral view
(c) e gwa/Axial view (d) s g9a/0Oblique view
Tk Ut 3T % o St are srgem A 22
What is the proper breathing instruction for an AP abdomen?
(a) of sfa:a@/Full inspiration (b)  za =@ /Rapid breathing
(c) 3ven w&/Shallow breathing (d)  oof f:5@@/Full expiration
8 1338 & 1374



43.

44,

45.

46.

47.

Trferiia & sta-a1 afér Hopg it & atet 1 wated yai
Which of the following would best demonstrate fluid in the right pleural cavity?
(a) wmwTide sfered/left lateral decubitus

(b) =fror wififer SHfrem/right lateral decubitus
(c) s SFfew/ventral decubitus
(d) = S%faed/dorsal decubitus

i & Gfemrdr 3 S o fore Qft =t ferggen 3= & e
The patient’s chin should be elevated during chest radiography to
(2) TEET T AR T FA/avoid superimposition on the apices

(b)  we wmitTeT oo <kt wHiat W@ /keep mid sagittal plane parallel
(c) qffrehi iy =t %9 */reduce patient motion
(d) Thts gus % F@/reduce patient dose

10 f&t =1 : F fgam 21
The 10 days rule is applicable to
(a) =i 9oy €9 % a1e % o 10 T
the first 10 days following the cessation of menstruation
(b)  TSiru Wty 87 3 912 % 5w 10 feF
the first 10 days following the onset of menstruation
(c) Ty YT B % Tet & 10 fe
the 10 days preceding the onset of menstruation
(d) viud @ uger 14 o7

14 days before menstruation

Treforfiar o s s 3 fafereor vapor wres 3 ferehr 7 warffereh meeeraf 27
In India which of the following is the most significant in the development of radiation
protection standard?

(a) wrst/AERB (b) sesRE/BARC
(c) TERTH/NCRP (d)  smeEeT/ICRP
At (TLD) qivereAT W i 81/TLD is based on the phenomenon of
(a) Swi/Induction (b)  amradia e/ Thermionic emission
(c) am-gdif/Thermoluminescence (d)  wREnfes ywE/photographic effect
9 1338 & 1374



48.

49.

of):

51.

52.

93.

T (MCU) —— BI/MCU is

(a) Thergien fret afetmmdl/ Micturating Cysto Ureterography
(b) wifswe Rt gfeimm/Modified Cysto Urethrogram

(c) fhriien foret afiiomdl/Micturating Cysto Urethrography
(d) et Rt af@mm/Micturating Cysto Urinography

Toreft Wfeaamdhier Sma o SR e fore <11 Tremaret gatfie w6 wifta scaren st Sk B

The primary factor that limits the maximum MA that can be used during a radiographic
exposure is:

(a) W==HN/Anode angle (b) R T AER/Focal spot size.
(c) e aEH/Cathode temperature (d) =™ EIa/Exposure time.

T ! Btgat Frferfaa #§ i Weaiondi # u s=uat 3l (70 3 0@ W 90) 3 39T ) ¥ A 2 Fear T 2

All the following are potential advantages of using a higher kV (90 rather than 70) in
radiography except:

(a)  grn T W 3|/ Increased patient exposure.

(b) = fr mn Y s ai/Reduced X-ray tube heating.

(c) @M I g9a/Shorter exposure times.

(d) =TT &7 fywata/Decreased area contrast.

S SAfth H ATLROTTAT 7% {59 {9 F3T6eh o T I GHTH Bal 22
In the adult, the spinal cord usually ends at the level of which vertebra?

(a) wil/Ll (b) wl/s1
(©) TwS/LS ) w3/S3

e & e wifsern Rea 2
The cochlea is located within the ——— bone.
(a) e siRkw/Frontal bone (b)  srghuTer a1fe/Occipital bone
(c) vEf=/Temporal bone (d)  whHisE ATiRe/Sphenoid bone
T ST & mrem @ farfentor 3ea= = &)

X-ray generators produce radiation through:

(a) simezreiT AfsRmY/Bremsstrahlung processes.

(b) -3 i WiFATY/K -shell emission processes
(c) (a) @ (b) AFi/Both (a) and (b)

(d)  (a)=1 (b) A/ Neither (a) or (b)

10 1338 & 1374



54.

55.

56.

i

58.

59.

THSATEETE (MRI) T Geshiy &7 i agH

Increasing the magnetic field in MRI ?

(a) =u wEfT s 3e9-T aiar &/ Produces less susceptibility artifacts.

(b) ek ara <Al sifad 0 &t &/Reduces the risk of tissue heating.

(c) ueha @ o wigar ¢/Increases the signal to noise.

(d) enfessh ger & gRaTen @aw &4 gidl 8/Reduces the danger from metallic projectiles.

=T T SgeshH ol forem YTt & It 2, wifen o gl e & 6 S ferfentor <t dftsar &
T et 2

Newton’s Inverse Square Law is useful in radiography because it indicates how the
radiation intensity is affected by

(a) eamfwra era/Radioactive decay (b) @@ g/Distance from the source

(c) @ 3R/ The size of the source (d) 3w A4 H FE/None of the above

et TROIST 3 TIOR3 S @ 21 U ST 6 U qea e T o frmferflad adt 7 aftad g, o 1 st 38 vty
As an ultrasound pulse moves through tissue in a patient’s body it will undergo a change
of all the following except :

(a) smaf/Frequency. (b) 3w (=1)/Amplitude (energy).

(c) ifeer ameRR/Physical size. (d) <f=arIntensity.

fopreft faferr somred o Terfoes forem waw sferes € ¥ i g

The spatial resolution of an imaging system is most directly related to:

(a) = fymate awgetl & e/ Visibility of large, low contrast objects.

(b) T feiat st g/ Visibility of noisy images.

(c) g Fami i geaar/ Visibility of soft tissues.

(d) i it it geaar/Visibility of anatomical detail.

CHSATCTE T UL Weh Y STrarret) (-2 St o ferwa & sifardd: wam grmer

The radio frequency energy used in MRI and X-ray have essentially the same:

(a) a/Velocity. (b)  widENi/Photon energy.

(c) dtre=/Wavelength. (d) smafi/Frequency.

ferelt it & wEhIfole TorrX ST o IO ¥ e Sferen Sfere IR 2l

The most appropriate instrument for measuring the scattered X-ray exposure from a
patient is:

(a) TR HEY/Geiger counter (b) =<1 A %&/Large ionization chamber

(c) @i s w&/Small ionization chamber  (d) T ¥g@e/Scintillation detector

11 1338 & 1374



60.

61.

62.

63.

64.

65.

66.

eamTh @ %1 g uewh #/The main component of radiographic noise is

(a) "= @/ Structure mottle (b)  HiewFra/Quantum mottle
(c) g #Faw/Random mottle (d)  UFP=/Graininess

STt fafertor Frame & aref freht ares sfir <t anfifer @oes dm Bl
Under the ionising radiation regulation, the annual dose limit for an adult worker is -
(a) SmSv (b) 50mSv

(¢) 2mSv (d) 20mSv

CEMIIERRCENE D) % w1t foram smar 81/Absorbed dose is measured in

(a) ¥=E/Sieverts (b)  #THiada/Man Sieverts

(c) =idis@/Coulombs (d)  59/Grays

T ST o STV & SR 21/0ne rad is equal to the absorption of
(a) 1joules’kg (b) 0.01 Gy

(c) 100 joules’kg (d 0.1Gy

SehTeT-fergra s #/In the Photoelectric effect
(a) Tr-fertor wehifefa &/the gamma — ray is scattered
(b) =it ITHT-foRTer it weRTRTeR SeladT & wuTal i st )
all the gamma — ray energy is transferred to the photoelectron
(c) feomse: shft wferifireiier Tt %1 3ewsiT 7 a/fluorescent X — ray emission never results
(d) 39w d 8w st wi/none of the above

T g W FreheraTel we-X ot A o se g 3 i Tt ¥ w8 w6 A 58 e gl
The intensity of the X-ray beam that leaves the X-ray tube is not uniform throughout all
portions of the beam. This is called

(a) vErywa/Heel effect (b) < Seas/Thermionic emission
(c) 3raifea fafrr/Stray radiation (d)  ==fieUTube rating

UATE T % w9 8 a1 1 ST 4l v et 2%/ Why copper is used as an anode stem?
(@) v i weskar/High thermal conductivity

(b) wga3W/Very hard

(c) == eEa/Poor heat dissipation

(d) v 8w it w€i/None of the above

12 1338 & 1374



67.

68.

69.

70.

71.

72.

13.

74.

- farfemor weror ot uss e 7 2/Which is not a method for radiation protection?
(a) eEfie/Dosimeter (b)
(c) /Distance (d)

g/ Time
Fa=/Shielding

ROl farfRior sht s sheak Wataeier o | @ 3 R e T SR feha St 82

Which device is used to improve radiographic quality by reducing scattered radiation?

(a) wHE-{IA/X- ray table (b)  fire/Grids
(c) frem se/Film cassette (d)  F=fi/All of these
X @ ffifa € 21/The X-ray tube is made up of
(a) s @m@/Boro glass (b)  ¥gffr/Aluminium
(c) urstw w/Pyrex glass (d) sffem/Beryllium
3 =reor e =1 Bt g 21/Fogging of film is caused by
(a) ¥« 3creA/Pair production (b) ¥ faeiwA/Pair annihilation
(c) wied wehivla/Compton scattering (d)  wew-fE warE/Photo electric effect
ferferoT <rarart 1 eftes dielt el o e 2

The radiation warning symbol is a black
(a) Praftfer/Trifoil
(c) =gifF/Quad foil

ferfereor w1 wert a1fren &y wEamaTe TR

on a yellow background

(b)  feufife/Dual foil
(d) e uftfE/Single foil

|

The most damaging type of radiation is
(a) dfter frwr/Beta rays
(c) twwr fr/Alpha rays

ST 1 g

(b) wHE-UX-rays
(d) T foRr/Gamma rays

gt &G =nfeu)/TLD should be worn at

(a) it Feam/The back side at the shoulder position

(b) T T & aTet sat ®/Outside the lead apron stomach position
(c) wex U ¥ 37t 3 w0/ Inside the lead apron stomach position
(d) e Uy % amet Hier T/Outside the lead apron collar position

T o1 anfashr fBFe R/ Who invented the cyclotron ?

(a) <w/Lawrence
(c) @si/Bergonie

(b) w=/Roentgen
(d) *w/Kerst
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75.

76.

77.

78.

I8

80.

Toret worg-X e o yaty FedeT g frutfa s i sfoa wher

I HIOT R

The appropriate test to determine if an X-ray machine has adequate filtration is to measure

the
(a) 3m&a FA/Exposure output
(c) F=MkV

it w1 A (e ETge Il H) srafies w9 §

(b)
(d)

Taeitet/HVL
Uit 3gwA/Patient exposure
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The value of a CT number (in Hounsfield units) is determined primarily by

(a) Affaw sTwR/Matrix size
(c) &KV

(b)
(d)

TTSH St Hiers/Slice thickness
ek T/ Tissue density
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The efficiency of X-ray production (exposure/heat unit) can generally be increased by

increasing the

(a) wi=w wz srF/Focal spot size
(c) wWymA

(b)
(d)
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Positron emission involves the ejection of :
(a) U Ue® #vi/an alpha particle

(b) U fler HIEAH F0T/a beta minus particle
(c) uHHfier @@ Hu/a beta plus particle

(d) e WIEH 1 T =gH/a proton and a neutron
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Ff/kV
Iwred @wa/Exposure time
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In order to better visualize joint space in AP view of knee joint the tube is angled 5 to 7

degrees
(a) =uTcia/ Cranially
(¢) w=mwd i fasn/Towards medial side
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(b) T=sW/Caudally |
(d)  wif¥fe wrd & e/ Towards lateral side
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For AP view of coccyx the central ray is directed

(@) 25°3ff fii av/25° towards head
(c) 25°uwfi :Mv/25° towards feet

(b)
(d)

10° sits &t 31%/10° towards head
10° e it 31/10° towards feet
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